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1. A particle of mass 0.5kg is moving with velocity (2i + 4j)ms™ when it receives an
impulse of (—4i + 6j)Ns.

(@) Find the speed of the particle immediately after it receives the impulse.

()

(b) Find the size of the angle between the direction of motion of the particle immediately
before it receives the impulse and the direction of motion of the particle immediately
after it receives the impulse.

®3)
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2. Acar of mass 600kg tows a trailer of mass 200kg up a hill along a straight road that is G
- : : 1 I
inclined at angle 6 to the horizontal, where sing = 0" The trailer is attached to the car by o

a light inextensible towbar. The resistance to the motion of the car from non-gravitational

%
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forces is modelled as a constant force of magnitude 150 N. The resistance to the motion of e
the trailer from non-gravitational forces is modelled as a constant force of magnitude 300 N. §§:§§§
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When the engine of the car is working at a constant rate of PkW the car and the trailer
have a constant speed of 15ms™ s

<>
0

35
o<

¢
<X
7S]
o]
o0

]
algl

2%
y

2

o
%%

K

(@) Find the value of P.
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(5)

Later, at the instant when the car and the trailer are travelling up the hill with a speed
of 20ms™!, the towbar breaks. When the towbar breaks the trailer is at the point X. The
trailer continues to travel up the hill before coming to instantaneous rest at the point Y.
The resistance to the motion of the trailer from non-gravitational forces is again modelled
as a constant force of magnitude 300 N.
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(b) Use the work-energy principle to find the distance XY. B
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3. Anparticle P of mass 0.25kg is moving on a smooth horizontal surface under the action of
a single force, F newtons.

At time t seconds (t > 0), the velocity vms™ of P is given by

v =(6sin3t)i+ (1 +2cost)j

(@) Find F in terms of t.
®3)

At time t =0, the position vector of P relative to a fixed point O is (4i - J§j) m.

(b) Find the position vector of P relative to O when P is first moving parallel to the
vector i.
(6)
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Question 3 continued
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4.

Two small balls, A and B, are moving in opposite directions along the same straight line
on smooth horizontal ground. The mass of A is 2m and the mass of B is 3m.

The balls collide directly. Immediately before the collision, the speed of A is 2u and the
speed of B is u. The coefficient of restitution between A and B is e, where e > 0

By modelling the balls as particles,

. . |
(@) show that the speed of B immediately after the collision is 3 u(1 + 6e).
(6)

After the collision with ball A, ball B hits a smooth fixed vertical wall which is
perpendicular to the direction of motion of B.

.. L .5
The coefficient of restitution between B and the wall is 7
Ball B rebounds from the wall and there is a second direct collision between A and B.

(b) Find the range of possible values of e.

(4)
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Question 4 continued
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5. 5
C 4a
12a 5a
A a
@)
Figure 1
A smooth solid hemisphere is fixed with its flat surface in contact with rough horizontal
ground. The hemisphere has centre O and radius 5a.
A uniform rod AB, of length 16a and weight W, rests in equilibrium on the hemisphere
with end A on the ground. The rod rests on the hemisphere at the point C, where AC = 12a
and angle CAO = a, as shown in Figure 1.
Points A, C, B and O all lie in the same vertical plane.
(@) Explain why AO = 13a
(1)
The normal reaction on the rod at C has magnitude kW
8
(b) Show that k = )
©)
The resultant force acting on the rod at A has magnitude R and acts upwards at 6° to
the horizontal.
(c) Find
(i) an expression for R in terms of W
(ii) the value of 6
(8)
J
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6. [The centre of mass of a semicircular arc of radius r is % from the centre.]
A
A
24a
D B
v E C
-
7a
Figure 2
Uniform wire is used to form the framework shown in Figure 2.
In the framework,
e ABC is straight and has length 25a
» ADE is straight and has length 24a
* ABD is a semicircular arc of radius 7a
« EC=T7a
» angle AEC =90°
» the points A, B, C, D and E all lie in the same plane
The distance of the centre of mass of the framework from AE is d.
(@ Show that d = La
2(7 + n) (4)
The framework is freely suspended from A and hangs in equilibrium with AC at angle «°
to the downward vertical.
(b) Find the value of a.
(7)
J

20

P 6 9 2 8 9

ELEm

SLRRK
LR
Joteotetess

%
::oto’o‘
<
}
o

v
'
[
v
SIS

KGRI A
R ISAN
CTRIL
LA
sravededs
e

J
o’

06
XL
Patee!
ETH
Lot

%
%
f‘
S
030

Ca
>4
IS

R
™1 %7
’ \J-
02019

NSt tete
e

QG ICIIIIIIIHHIIIIAIA

05
505K
X %
et
2!

ERLEIKLIKLAL
K RCIKIERIIKIE LI R IR IIRIK KK

R RAIR KKK RLR LK KKAR

o:e 0
%o TN
KIS
PNz 9%
SCPRR




6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
53

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Leave\
blank
Question 6 continued
J
21
am A0 0 00 Turn over »
P6 9 2 8 9 A0 2 1 2 8



Question 6 continued

Leave
blank

22

P 6 9 2 8 9 A0 2 2 2 8

ELEm

HRRK
R
SRR
ALK

006
555
o
s
ORI

O
<
‘Qee
555

%
i )%
%9

5
o
X
%o
S0t

KRR IHR

”
b

%

KERRLEARLKEARRLEK

S

GEIRRLEEIREEIRLEY

X
X
X >
0
SIS

ORI

0505
CRKLES

<
58
K

K
PeSolannte%s
DoSecozeio%
SO0 0t
o0 05

QK
s 108
<A o%
S5
P
DoSe? o7t
<AL
2

SRR
(90950509
o



ote%s
RRRKE
ootelotes

KRR
RIARKS

>
5
095!
K
X

%%

otodetotetetet

5>
%
dedotedes
25
CRLRLLRLRARLR,

%
o
’ng‘

25
SIS
otetee!
IR
%

%

ot
RREK
o%
<5

XA
XA
St
DZ‘ AV
O30

¢
%
>
(et
RRRLKRLRS

<K
<X
5

Sve%
0%
RKS

G5
X ):0’0‘0’
%

S
&

0% %

s
0

%’
\]
é
%

- %

%
1939
A

f

535

%%
a0
S
X

SMEN
S S
oS0 930993
9930 9:4%
S

S

%
o

&
ook

<X
o

|1

KEY

X XK
RRLRKE:

X

oleteds
T

255

o
5%

00
S
teteteteltete
KLk
SERLRESS
R

S
XXX

<
S
bose%s

X8
29
%%}

0
%
KR
55

55

SR
SRSES,
0000
KRS
QLK
SRR

%
R
5
35K
5%

%
9%
a0
LKL

<535
9%
S

O
oot setotede!
PSKEIS
) SR
SRR,

CRRKEEBEE,

et

A

A
!
IRKK

Rdd-

%
K

bt ?3
S
S
Boss o

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

9
2%
D

0%
A

%
X

(RIS
SIRARNK

(X
55
So%ss
%

Sosetones
]
CRKLKLEK A

2%
XS
g%
‘0”‘::

0>
RS
ot
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
‘0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

( Leave\
blank
Question 6 continued
Q6
(Total 11 marks)
& S
23
o VD PO 0O R0 0 Turn over »
P6 9 2 8 9 A0 2 3 2 8



Leavé\
blank
7. A particle P is projected from a fixed point O on horizontal ground. The particle is
projected with speed u at an angle « above the horizontal. At the instant when the
horizontal distance of P from O is x, the vertical distance of P above the ground is y.
The motion of P is modelled as that of a particle moving freely under gravity.
gx?
(a) Show that y =xtana — = (1 + tan?a)
u
(6)
Asmall ball is projected from the fixed point O on horizontal ground. The ball is projected
with speed 20ms™" at angle 6° above the horizontal. A vertical pole AB, of height 2m,
stands on the ground with OA = 10m, as shown in Figure 3.
B
20ms™
2m
690
© < 10m >
Figure 3
The ball is modelled as a particle moving freely under gravity and the pole is modelled as
a rod.
The path of the ball lies in the vertical plane containing O, A and B.
Using the model,
(b) find the range of values of & for which the ball will pass over the pole.
®3)
Given that ¢ =40 and that the ball first hits the ground at the point C
(c) find the speed of the ball at the instant it passes over the pole,
(5)
(d) find the distance OC.
)
y,
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